

## 8.4 Derivatives of Logs

$$\frac{d}{dx} \ln x = \frac{1}{x}$$

$$\frac{d}{dx} \ln x = \frac{1}{x}$$
 $\frac{d}{dx} \ln (g(x)) = \frac{1}{g(x)} \cdot g'(x)$ 

$$=\frac{g'(x)}{g'(x)}$$

$$\frac{d}{dx} \log_b x = \frac{1}{x \ln b}$$

$$\frac{d}{dx} \log_b x = \frac{1}{x \ln b} \qquad \frac{d}{dx} \log_b (g(x)) = \frac{1}{g(x) \ln b} \cdot g'(x)$$

$$\frac{d}{dx}b^{x} = b^{x}|_{nb}$$

$$\frac{d}{dx}b^{5(x)} = b^{9(x)} \cdot \ln b \cdot g'(x)$$

Ex 1 
$$y = x(\ln x)$$

$$y' = x \cdot \frac{1}{x} + 1 \cdot \ln x$$

$$y' = \frac{1 + \ln x}{x}$$

$$E \neq 2$$

$$y' = \frac{1 + \ln x}{x^2 + 2x - 5}$$

$$y' = \frac{2x + 2}{x^2 + 2x - 5}$$

$$y' = \frac{2x + 2}{x^2 + 2x - 5}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{\cos x} \cdot - \frac{\sin x}{\cos x} = -\frac{\tan x}{\cos x}$$

$$y' = \frac{1}{x} \cdot \left[ \frac{1}{x+1} \cdot 1 - \frac{1}{2} (x+1)^{-\frac{1}{2}} \cdot x \right]$$

$$y' = \frac{1}{x} \cdot \left[ \frac{1}{(x+1)^{\frac{1}{2}}} \cdot \frac{1}{(x+1)^{\frac{1}{2}}} \cdot x \right]$$

$$\frac{2(x+1)}{(x+1)} - \frac{x}{2(x+1)}$$

$$\frac{2(x+1)}{(x+1)} - \frac{x}{2(x+1)}$$

$$y' = \frac{2(x+2-x)}{2x(x+1)} = \frac{1}{(x+1)^{\frac{1}{2}}} \cdot \frac{x}{2(x+1)^{\frac{1}{2}}}$$

$$y' = \frac{1}{x} \cdot \frac{x}{2(x+1)}$$

$$y' = \frac{1}{x} \cdot \frac{x}{2(x+1)} = \frac{1}{x} \cdot \frac{x}{2(x+1)^{\frac{1}{2}}}$$

$$y' = \frac{1}{x} \cdot \frac{x}{2(x+1)} = \frac{x+2}{2x(x+1)}$$

$$y' = \frac{1}{x} \cdot \frac{x}{2(x+1)} = \frac{x+2}{2x(x+1)}$$

$$= \frac{2x+2}{2x(x+1)} = \frac{x+2}{2x(x+1)}$$